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a b) 12 o d 14
i How many Zeros are there in 1007
a8 ‘ b) 3 C) 10 d 20
- Which of the following methods are used 10 €heck the congruence of Plane £ gures?
a) Translation Method b) Superposition method ‘ ¥
c) Substitution method d) Transposition methad
> The elements along the sixth row of the Pascal's Triangle is
a) 151051 b) 1,5,5,1
€ 1,55,10,55,1 d) 1,5,10,10,5, 1
I Fill in the Blanks. 5x1=5
6. Express gas decimal number ——--
Z.  Inthe formula C= 2 ar. 'r’ refers to ~——-——
8 The value of (14x21)%is -
8 Unitdigit of 124 x 36 x 980 is
10" If two plane figures are congruent then they have ——__
lIl. Say true or false: 5x1=5
1. 22x32=6%
12.  0.008 is egual to 0.000900
- WL
14 7 2’ b and 7ab? are like terms. .
15. Cwcumference of a circle is always more than three times of its diameter
V. Match the following: Y 5x1=5
6 -1 -

KIndly Send Me Your Key Answer to Our email 1d - Padasalal.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Trb Tnpsc.Com

www.Padasalai.Net

10000 ™8 & 11111 v

e l

i
angles of a triangle are in the ratio 3.5 4 , then find themn
dz'yty , Bx'2'y , -5y'x'z

ee

the like term 1.“'1\‘? yix'z
e the relationship between x and y from the given table
x T ) 3 4
y 4a_| 8 12 _16 (OR)
wify the greater number 5° or 3¢
PART - lll
5x3=15

Vi, Answer any 5 of the following:
Express the following decimal numbers in place value grid and write the place value of the

:m*er#'-ned digit (i) 263.271 (i) 428.001 (i) 9.657
Express the following in meter using decimals. (i) 7cm (i) 43cm (i) m Bcm
The area of the circular region is 2464cm?. Find its radius and diameter (use = = 22/,

rlr

38
38 A Rose garden is in the form of circle of radius 63 m. The gardener wants to fence it at the
rate of ¥ 150 per metre. Find the cost of fencing?
40. Simplify using laws of exponents.
.~ .. 4 xatxb’
(5% x 5%) +5° W o
41 Simplify and find the degree of the expression. 4x2- 3x - [8x - (5x? - 8)]
42 Find the value of x. in the given triangle.
B C ;—_'
43. Complete the pascal's Triangle by taking the number 1, 2 , 6,20 as line of symmetry.
|
!
1
11
1]2
1|3
1(4(8
1|6 |10! b
1]6]16]20 i
(OR)
If a=3andb = 2 then find the value of following (i) a®+b* (i) a*-b"
PART - IV _
1x5=5

VIl. Answer any one of the following.
44. a) Draw atriangle XYZ given that XY =6 cm, YZ = 5.5 cm and ZX = 5 cm.

(OR)
b) Draw a triangle PQR given that 2P = 60° £R =35°and PR = 7.8cm.
CH/7/J/ Mat/
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